+

S
2

RTDT —X;



RDT — XA
ROT— 2 RAEFHICEMLOT, 22Tl [T—208] & [T-2@8E] HBLTEL

[T -2 DR
HEE (numeric), X F&(character)’: &
INLaEEAEHOE TEMEL T —X2%FHKRTE S,

[ F=gEE] (T-X0EE
~ 7 kJL(vector), 175(matrix), EZ%5!(array), Y X b (list),
7 —4& 7 L — L (dataframe)

ROT—RDEDEEAFANS a7 K typeof(), mode(), class()



[32E51] OR7Z b

>vecl <- ¢(1, 2, 3,4) # ATy FE<-BBE (518
ERRIC, vec2& LT,
>vec2<-c¢(5,6,7,8) # A7y bE<-BBE (B1E)

#8E5T —%c(1,2,3,4) 1% c(1:4), c(5,6,7,8) | c(5:8)TH L Ly,
FEHIZT—% (R ML) Z1EAZOTHNIE, 1:4, 5:8 THULLY,

> vecl + vec2 # X7 MIILD]
1] 6 81012
> vecl — vec2 # R MILDE
(1] -4 -4 -4 -4
> vecl*vec2 DT EDEDT —X

[1] 51221 32



[32E51] OR7Z b

> vecl%*%vec?2 # Ny ~ILORNTE

(1,] 70

> vecl|2]; #veclDEFE2ER

(1] 2

> vecl[1:3] veclDEB1~E3EZR DENE
1] 123

> vec2[-2] #vec2DE2EFZ D YR
[1] 578

> length(vecl) AT PORES

[1] 4



[2E1] OFRANLET —X

(1154321

> seq(1, 10, by=2)

(1113579

> rep(c(1,2,3), times = 2)

11123123

> rep(c(1,2,3),each = 2)

11112233

> vec <- c(c(1, 2, 3),c(2, 3,4))

> vec HEBDONY PILERBELTZRNI MLEEDZZ EDNTE S
11123234



[2E1] ®OUIY EIF, TIVHET

>x<-c(4.49,45, 451, 5.5) # 5.5(Zround B o LL &L FH

> ceiling(x)

(115556

> floor(x)

(114445

> round(x)

114456 FALDAIZHOHLNTWAEZ EITFER
> floor(x + .5) # g A A

(114556



[£E81] WAL

> runif(3) #0L 1O DOEE3E
[1] 0.3263794 0.4356196 0.2098917
> ceiling(runif(10)*6) #1E6MDEDBREEZ0ME

(111 2 4 5536 35 4



175 (matrix )

[252]) {78)a~~ K

> m <- matrix(c(1 : 6), 2, 3) # THoawr R
>m
L1 2] [3]

[1,] 1 3 5

2] 2 4 6

> length(m) AT bDEZX
[1] 6

> dim(m) #4727 bDRT
(1] 2 3

> nrow(m) #A 70 hDITE
(1] 2

> ncol(m) #4720 hDIE
[1] 3

> class(m) # A7 bR

[1] "matrix"



B2 (array)

> a< - array(1 : 4, dim = c(4)) # 1xRoThg (1174%1)
> a< - array(1: 6, dim = c(2, 3)) # 2x7they (2973%1)
> a< - array(1: 6,dim =c(2, 3, 2)) # 3RIohLS

(BBETEITLLD)



[284) (F—%7L—L)

>fr <- data.frame(name=c("&XK","KXAK","INEE"," LIF"), mark=c(20,24,12,32))
> fr #T—% 7L —L1ERK
name mark
1 EAR 20
2 KK 24
300EE 12
4 Llg 32

> mean(fr$mark) #EEDIRE $ TmarkZHIZT7 7t X (EHE)
(1] 22



[2&5] (U Xk list)

> listl < - list(“24E”, “RHEHKER”, c(10, 20, 32)) # BB H I
> |istl
[1]] # 1EFEBHDY X b
1] "2F"
[2]] # 2B DY X b
1] "EREHEKER"
[3]] # 3FZBBDY X b
(1] 10 20 32
> list1[[1]] #1FBZBEERYHI OB

[1] "24"



